B

FK

HZ A RT

GELCE D
R SETRER OB, FEER
R, SHELNERHDENES
BT,

G D
s T EEE
QEFEE NG

CONTENTS

RIEFRK

1873

@ &5 AT (FK)

1874

A FREEEM

1877

@ : k.

SCP3

CMK2

CMA2

SCM

SCG

SCA2

SCS2

CKV2

CAV2:
CovP/N2

SSD2

SSG

SSD

CAT

MDC2

MVC

SMG

STK

SRL3

SRG3

D RAEHIE SRM3

S BS

B RT

M3x
05

M4x
0.7

M5x
0.8

M8x

M8x
1.25

M10x
1.25

M10x
15

M12x
15

M14x
15

M16x
15

M16x
20

M18x
15

M20x
25

M22x
15

M26x
15

SRT3

MRL2

MRG2

SM-25

i

e

HhaRay R FK-%-N | @

MR R FK  J

ﬂ-n
[

b
1874

BHR

CKD

1873



B AT

FK series

SePi @ EFERZ: 06~ 100
CMK2
CMA2 @ CAD
SCM
B
S 20 O ms REFRE 1 AFRLE | RAOBREN
JMBLY (N) (mm) jE)p4E (mm)
SCA2 FK-M3-N FK-M3 63
oo FK-M4-N FK-M4 110
FK-M5-N FK-M5 179
kv FK-M6-N FK-M6 253
FK-M8-N FK-M8% 1.0 462 +0.3
e - FK-M8x 1.25 462
il FK-M10-N FK-M10 734 0103
SSD2 — FK-M12 1069 A0
— FK-M14 1466
SSG FK-M16-N FK-M16 2003
— FK-M18 2448
SSD FK-M20-N — 3130 +0.7
- FK-M22 3896
CAT — FK-M26 6219
pcy E1 : AESEERRBESE,
- BERTAE
Mve @ EEAET
e TR
MeBG fe RE
0 BLR~T
. 12 -
FCx | MRS QBuRY M3-N M3x0.5
i M4-N M4x0.7
M5-N M5x0.8 s
- M6-N M6X 1.0 i
M8-N M8x 1.25 5
SRG3 M10-N M10X 15 )
M16-N M16Xx2.0
SRM3 M20-N M20x2.5
M3 M3x0.5
SRT3 Ma M4x0.7
M5 M5x0.8
MRL2 M6 M6X 1.0
M8x 1.0 M8x 1.0
MRG2 M8 1.25 M8x 1.25 ;;
. M10 M10x1.25 5
’ M12 M12X 1.5 :ﬂ
X 1.
o M14 M14X1.5
M16 M16Xx15
£ M18 M18X 1.5
M22 M22x 1.5
n M26 M26X 1.5
— ZREBRT R ARAS | eassms : cc-12260)
Bk
— @ xEthAE T Z R ulERMNLE,
-~ FK- (gmR<)  -(P4o) -
EX
EEBERA AT,
1874 CKD



F K Series

SMER~TE
’ = CAD -
9I‘ﬂ/Rj— SCPx3
M F:W CMK2
@ ZBH(1) REAIE : B
- c > - B > CMAZ
- D
E |F
> - SCM
- T SCG
I
S < SCA2
J — SCS?2
@ 1+ (2) CKV2
CAV2:
J L b L o Cove/N?
- - - K s _R -
Kk R -~
=T ~ SSD2
|| : ‘
D N N
i N Y N N SSG
| | A A
B N\ ] ) SSD
o
= o ZI / S ooz \
| Yy || Y J CAT
| v N v —
4 Y M ‘ MDC2
|
QO
4-Q MVC
M3~M16 M20
SMG
(1) MBS
&R <UL | A | B | ¢c | b | E | F | G | H [EEeg
FK-M3-N | SSD-SSD2-12 11.6 10 15 10 3.1%9 2 M3x0.5 6 5.3 FC3x
FK-M4N | SSD-SSD2-16 11.6 10 155 10 3.1°91 2 M4x0.7 6 55
FK-M5-N | SSD-SSD2-20,FCD-25| 13.9 12 165 10 3179 2 M5x0.8 8 8.3 STK
FK-M6-N | SSD-SSD2-25FCD-32| 13.9 12 19 10 3.1°% 2 MBX 1.0 8 8.9
FK-M8N | SSD-SSD2-32.40FCD-4050 | 21.9 19 23 15 5.7 3 |wex125| 13 308 SRL3
FK-MTO-N | SSD-SSD2-50,63FCD-63 21.9 19 24 15 5.1°0 3  |Miox15| 13 327
FK-M16-N | SSD-SSD2-80 37 32 31 20 7179 4 |Miex20| 23 1225 SRG3
FK-M20-N | SSD-SSD2-100 53.1 46 43 28 12179 7 |veoxas| a2 333
SRM3
nIH”F(E)
---“““ﬂnﬂﬂ SRT3
FK-M3-N | SSD- 350212 38, 7
FK-M4N | SSD-SSD2-16 6 3%, | 16 14 7 24 34 | 45 8 = 16 | MRL2
FK-M5N | SSD-SSD2-20,FCD-25| 6 38, [ 19 16 9 26 36 | 45 | 95 - 196
FK-MBN | SSD-SSD2-25FCD-32| 6 38, [ 19 16 9 26 36 | 45 | 95 = 196 1RG2
FK-M8N | SSD-SSD2-3240FCD4050 | 9 55, | 25 25 14 38 52 7 125 | — | 545
FK-MTON | SSD-SSD250,63FCD-63 | 9 55, | 25 25 14 38 52 7 1256 | — [ 545 o5
FK-M16-N | SSD-SSD2-80 12 75 aa 42 25 62 85 11 22 - 216
FK-M20-N | SSD-SSD2-100 22 | 123, | 65 59 34 90 | 120 | 14 | 185 | 38 | 788  sgmmm
FJ
TR
&R

CKDD 1875



F K Series

) pLT = CAD
oy SMERTE

CMK2 M B

EEAE : B3
civpy | @ EBER(T) ® % (2)
J L <« - L >
D B = ~ > K < < S R,
<D . - - K R - -~
] I | ]
o s
scG| || L . , & O 1
— [ i | | )
SCA2 T K \\ B \ \ [ | :
B s W, S ooz N\
el gty =h Y Y j 2/ 0oz j
SCSZ Y | A | - A
— G ¥ i
CKV2 J v }) f*‘\ 6}
] 2Q i
CAV2: -
Coven 2q
sSD2 M3~M18 M22~M26
— BBEF(1)
< I T T WS N T N NI N T
FK-M3 |SCPD3-6,CAT-6,SMG-6 11.6 3.1 2 M3x0.5 6
SSD FK-M4 |SCPD3-10,CAT-10,SMG-10 | 116 10 10 3179 2 M4x0.7 6 4.1
SCPD3-16,CAT-15,SMG-16 o
CAT FK-M5 13.9 12 10 3170 2 M5x0.8 8 6.2
SSD-12-N
FK-M6 |SMG-20,SSD-SSD2-16-N 13.9 12 10 3179 2 MEx 1.0 8 57
MDCZ “FiiimMe x 1.0 [cMK2-20,CMA2-20,JSK2-20,JSM2-20|  21.9 19 15 5.170 3 M8x 1.0 13 23
FK-M8x 1.25 |SMG-25,SSD-SSD2-20N.SCM20 | 21.9 19 15 5.170 3 M8x125| 13 234
MVC CVK225+ 32 VA0 MIG-32.580- 5902250, o
FK-M10 21.9 19 15 5.17 3 |mioxi2s| 13 202
SCB32 5025+ B2 FCD25N K2 25+ 32, JSNE:30
SMG TRcMI2  [ovKke40CMAZ40J5K24005M2 40| 27.7 24 15 5.1°% 3 Mi2x15| 18 35.7
15D SCA2-40,55D-55D2-32+ 40N - SCG-40, o
FK-M14 27.7 24 15 5.1°¢ 3 M14x15| 18 312
M3SDG SCM-40FCD-32+ 40N,JSC340
~. _FkMI6 [cAv250 37 32 20 7179 4 |Miex15| 23 81.3
: SCA250+6355D-85D2.50-63N SCMH50-63, o
FK-M18 37 32 20 7.17¢ 4 |misx15| 23 73.1
- $C6-50+ 63FCD-50- 63N JSC350+63
SCA2.80,55D- SSD2-80N,JSC3-60, o
FK-M22 53.1 46 28 12,170 7 M22x15| 32 226
- SCG-80,SCM-80,CAV2-75-+ 100
FK-M26 |SCA2 1005D-SS02- 00NSOIH Q0 sca1o0sce 00| 53,1 46 28 12,179 7 M26x15| 32 193

-“-““nﬂﬂﬂﬂ

SRM3  FK-M3 |SCPD3-6,CAT-6,SMG-6 6 3s, 7
FK-M4 [SCPD3-10,CAT-10SMG-10| 6 33, | 18 14 7 24 | 34 | 45 8 — 16
SRT3 SCPD3-16,CAT-15,SMG-16 .
FCMS | eDa 2N 6 3%, | 19 16 9 26 | 36 | 45 | 95 — | 196
VMRL? ~ FK-M6 |SMG-20,SSD-SSD2-16-N 6 33, | 19 16 9 26 | 36 | 45 | 95 — | 198
FK-M8 X 1.0 [CMK2-20,CMA2-20,JSk2-20,J5M2-20| 9 53,| a5 | 25 14 | 38 | s2 7 |1w2s5| — | 545
MRG2 FK-M8x 1.25|SMG-25,55D-SSD2-20N,SCM-20[ 9 53,| 25 | 25 14 | 38 | B2 7 | 125 | — | 545
ONK2:25.32,CMA2:30 SMG-32.88D  8302:25 N, .
FK-M10 9 53,| 25 | 25 14 | 38 | s2 7 |125| — | 545
SM-25 S0G:32.501425+ 32FCD-25N 5225 32,08M2-30
FK-M12 |[CMK2-40,CMA2-40 9 53,| 32 | 32 19 | 50 | 70 9 16 — | 945
B hae SCA2-40,88D+§502-32+ 40N+ SC6-40, .
FK-M14 9 53,| 32 | 32 19 | 50 | 70 9 16 — | 945
SCNH40FCD-32+ 40N, JSC3-40
FJ FK-M16 |CAV2-50 12 75, ] 44 | 42 | 25 | 62 | 85 11 22 — | 216
SCA2-50-63.93D - 350250+ 63N,SCNH50+63, .
FK-M18 12 7% | 44 | 42 | 25 | B2 | 85 11 22 — | 218
n $06:50+63FCD-50-63,J50350+63
SCA2-80,5SD- S8D2-80N,JSC3-80, .
B FMR2 | e sone0cAvaTS. 100 22 | 123,| 65 | 59 | 34 | 90 | 120 | 14 | 135 | 38 | 788
FK-M26  [30A2-100830-s302-100NsewI00sscaiosesi0| 22 | 123, | 66 | 59 | 34 | 90 | 120 | 14 | 135 | 38 | 788

ER

1876 CKD




St
T REMEAATm

ERRTE S WIIE, SCP#3
XFRIFENMABTIBESEL73MIN, XTFREHAFXIBEEELB0MIA.

CMK2
| NBEEEDN : BEAAT FKEY | CMA
i < 3EhD - AERY SCM

= SCG
[=]

A
W IR Eh A (A A SUELE Z @I 8 5 5 M T E R, SCA2
BEASBURTHLENESHERITRE, F
FEE. R, WMREARNEOHRE, FRINHELE SCs2
ENERGLE T AR R B FAFE T

mIRLER (BB (1)) AT hEd%:, BRIk RiEk, AV
IR B FhEs%. COVP/N2

SSD2

DI

CKV2

SSG

SSD

CAT

MDC2

MVC

SMG

STK

SRL3

SRG3

SRM3

SRT3

MRL2

MRG2

SM-25

e

FJ

b

BHR

CKD 1877






